MONDAY

1) Solve the following:
a) 71 8= B o8 a8 -

23
s
23 135

d) 555 - 268 = 287 e} 367 = I 2==ali

g) 778 — 229 = 549 h) 881 — 385 = 496

C) 523416 =
1
4
4]
10

RG2S 5B = 635
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Can you crack the code by solving the calculations below, using column

subtraction, and discover where the minions are going on holiday?

0-49
50 - 99
100 - 149
150 - 199
200 - 249
250 - 299
300 - 349
350 - 399
400 - 449
450 - 499
500 - 549
550 - 599
600- 649
650 - 699
700 - 749
750 - 799
800 - 849
850 - 899
900 - 949
950 - 999

DHDHD

193 - 45 =148

485 -37 =448

753-219=534 N

981 - 428 =553 M

697 - 119 - 326 = 252 A

382-118-207 =57 R

426-177 =249
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